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1) Convert the following mixed number 2)  Find the percentage change from 2 to 3)
76/2 to an improper fraction. 21 20 Find VVolume of
_ 16 | Cylinder
e
Answer: Answer: Answer:
4) 72+ (-6) 5)  Find the percentage change from20to || 6) (3x 8% - (10x 68)
29
Answer: Answer: Answer:
7) Round 7.29783560 to the nearest 100 8) A number was shared in the ratio 9)
4:19. The smaller share was 12. 21 Find VVolume of
What was the total amount shared? 20 | Cylinder
Answer: Answer: Answer:
10) 11)  Increase 132 by 3/44 12) Round 5.807 to 1 significant figures.
21 Find Volume of
_ 20 | Cylinder
—
Answer: Answer: Answer:

13) Factorisex2 + 8x + 15

Answer:

14)  190+10

Answer:

15) Convert the following mixed number
18/9 to an improper fraction.

Answer:
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16) 58/ 10~ 5% 5

17) Find the percentage change from 8 to

18) Round 0.688 to 2 decimal places.

Total: /20
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12
Answer: Answer: Answer:
19) Simplify 11:7 20) Find perimeter of
sguare having each
s side (s) equals 25 cm
s
Answer: Answer:
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1) 10 2) 950%
8) 69 9) 6597.3445725386
159 16) 1y
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Answers:
3) 4021.2385965949 4) -12 5) 45% 6) -16009728 773
10) 6597.3445725386 11) 141 12) 6 13) (x + 3)(x + 5) 14) 19
17) 50% 18) 0.69 19)11:7 20) 100cm
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